E% Piot1

E% Piot1

L0

(pv)
0.5

0.0

'0.5_

-1.0 f i i t i

T
/] [ 0.4 LiX-3
{file TestUnitMultiples_res.mat; x-var time) «_12

(9 |57 [ -

ﬁf%ﬁ‘ﬂ

0.10

(v}
0,05

0,00

=0.05 -

-0.10 i i i f i

T
4] 0.2 0.4 0.5
{file TestUnitMultiples_res.mat; x-var time) v_7

(9 |57 [ -

ﬁf%ﬁ‘ﬂ

EZ Plot1

EZ Plot1

0,10

()
0,05

0,00

-0.05 -

-0.10 i —— gy
4] 0.2 0.4 0.5

(file TestUnitMultiples_res.mat: x-var time) v_4

M w5 1| ) -

08 () 1

e B

1.0

()
0.5+

0.0

-ﬂ.E—

-10 —t —t —
4] 0.2 0.4 0.5

(file TestUnitMultiples_res.mat: x-var time) v_3

M w5 1| ) -

08 () 1

e B

-10 ; ;
0 0.2

T T
0.4 [iX ]
(file TestUnitMultiples_res.mat: x-var time) vl

F w57 ) -

08 (5 1

ﬂa%m

-1000 — i
] o2z 0.4 0.6

(file TestUnitMultiples_res.mat; x-var time) w3

F w57 ) -

s (s 1

ﬂa%m




E% Piot1

E% Piot1

L0
(Gv)
0.5

0.0+

'ﬂ.E—

-L.0 i i i T i

T
/] [ 0.4 LiX-3
{file TestUnitMultiples_res.mat; x-wvar time) v

(9 |57 [ -

ﬁf%ﬁ‘ﬂ

-10 ;

T T T T T | |
0 0.2 0.4 0.6 0.8 [s) 1
{file TestUnitMultiples_res.mat; x-var time) w13
= |55l o) B &

S

1
1] 0.z 0.4 0.6

M w5 1| ) -

08 (s 1

(file TestUnitMultiples_res.mat: x-var time) v_small

e B

- 100 —————————

T
4] 0.2 0.4 0.6

(file TestUnitMultiples_res.mat; x-var time) v_large

M w5 1| ) -

08 () 1

e B




